(5)
$$f(x) = \sqrt{x+3}$$
 $f'_3 = \sqrt{x+3}$ $g(x) = x^2$ $\sqrt{x+3}$ $(-3, 0)$ $U(0, 0)$ $(-3, 0)$

(2)
$$f(x) = x^2 - 1$$
 $(f \circ g)(3) = 8$
 $g(x) = 2x - 3$ $(g \circ F)(-2) = 3$

$$g(x) = \frac{x}{9-x^2}$$
 (f = 3)(3) = 0
(f = 5)(-2) = 5

$$g(x) = 3x + 2$$

$$f(g(x)) = 3x - 1 \quad (-\infty, \infty)$$
$$g(f(x)) = 3x + 1 \quad (-\infty, \infty)$$

(16)
$$f(x) = x^2 - 1$$
 $f(g(x)) = \frac{1}{(x-1)^2}$
 $g(x) = \frac{1}{x-1}$ D: $(-\infty,1)$ $U(1,\infty)$

$$g(f(x)) = \frac{1}{(x^2-1)-1} = \frac{1}{x^2-2}$$

$$D: (-\infty, -\sqrt{2}) \, U(-\sqrt{2}, \sqrt{2}) \, U(\sqrt{2}, \infty)$$

Scanned by CamScanner

(8)
$$f(x) = \frac{1}{\lambda^{-1}}$$
 $f(g(x)) = \frac{1}{\sqrt{x}-1}$ $g(x) = \frac{1}{\sqrt{x}-1}$ $g(x) = \sqrt{x}$ $g(x) = \sqrt{x}$

(-d,-1) U(-1,0) U(0,00) Scanned by CamScanner

 $g(f(x)) = -\frac{x+1}{x}$

(37)
$$x^{2}+y^{2}=25$$

 $y^{2}-x^{2}+25$
 $y=\sqrt{25-x^{2}}$

$$90 3x^2 - y^2 = 25$$

$$3x^2 - 25 = y^2$$

$$y = \sqrt{3x^2 - 2r} \qquad y = -\sqrt{3}$$